[d° p_/dndeC

Ratio to ATLAS

7000 GeV pp Underlying Event

7 T T T T T I B B RN A %

c
51— Z(p ) vsA@ (| < 2.5,p > 0.5 GeV, p_>5 GeV) —z

B 1=

~  m  ATLAS &

| -+~ Pythia 6.428 355 |
4 L & Pythia 6.428 356 _13
| A Pythia 6.428 370 %

— -+~ Pythia 6.428 379 -3

- Pythia 6.428 ambt1 —+Z

[ ——— Pythia 6.428 z2 ]

3 I —

B o
™
<
(9]
<
o
(9]
—
x
S,
<
(&)
c
(o]
3!

— 0

n ks
o

- (&)

S U AU S S R o
2 £ 42
05 —0.5
| 1 1 1 1 | 1 1 L 1 1 | 1 1 1 1 |

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


